SIRES e Ha™ ¢ ufvreer uRug I (3IRE'S)
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Model Question Paper Set - 01
Subject - Time - 1 Hrs 30
Class - XII Mathematics Min Full Marks - 40

1.

General Instructions (A= fAd20):

> Itis mandatory to answer all the questions. (4T W= 31ard 2 |)

> The total number of questions is 40. (Y& &I Hl FEAT 40 7 |)

> Each question carries 1 mark. (U&% U9 & fory 1 i fuiRa g 1)

» Four options are given for each question, choose one of the correct option.
TS T & IR [APheq AU 1Y €, S99 9 Ud Al [ddhed & 999 HIfoig |)

> There is no negative marking for any wrong answer. (Tad SR & folg @I
3 el PIC Sl )

Let R be a relation on N defined by x + 2y = 8. The domain of R is
(a){2, 4,6} (b) {1, 2, 3, 4} (c) {2, 4,6, 8} (d) {2, 4, 8}

gTehd A3l & Aqgead N IR Udb Ha¢ R, x + 2y = 8 §RT URHINT & | R &1 Uid
g

(a) {2, 4, 6} (b) {1, 2, 3, 4} (c) {2, 4, 6, 8} (d) {2, 4, 8}
Let L be the set of all lines in a plane and R be the relation in L defined as
R ={(L4,L,): L, is perpendicular to L,}
then R is
(a) reflexive and transitive
(b) symmetric but neither reflexive nor transitive
(c) symmetric and transitive
(d) none of these.

AT {6 L el wde § Rerd Y va@meil &1 \zag 8 @1 R, L W gRIfd U&
R={(yL,): L, L, R T g}, dT R ?

(a) Taded dqAT HhTHD

(b) TS oifdhst 9 A1 Wged AT &1 HhiHd

(c) THfAT 3R HhHD

(d) g | DI 7Tl

Let f: R — {—4/3} = R be a function defined as f(x) = % . The inverse of f is
the map g:Range f - R — {—4/3}is given by
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Iﬂ?{%lﬁ:mﬁﬁf(x)=3if_4mlﬁmf@rﬁwwf:R—{—4/3}—>R%\‘lfEBT

gfae™ i ufdfes g: aRER f > R — {—4/3} F=faRaa @ 9 fdas grr o<
BT

__3y __y __4y __3
(@ g(y) = 34y (b) g(¥) =3 (€ g) = 34y (d) g(») =3

Let the function f and g be one-one onto, then gof is

AT {6 e f U4 g Udbd UG MWIEH & dl gof ©

(a) one-one onto (Thd IMTTBTEH)

(b) onto but not one-one onto (3TTBTEH TR Uhdh ITBadh al)
(c) one-one into (Thd &)

(d) Many-one onto (98U 3MTBICH)

Let the function f: R — R be defined by f(x) = 3 — 4x, then f is
IS e f:R >R URWMING € f(x) =3 —4x Al f &

(a) one-one (Thd)

(b) one-one but not onto (T TR ATTBIEH o)

(c) one-one and onto (Thd TG IATBIEH )
(d) none of these (375 ¥ ®Is T8l)

x—1
Let f(x) = 1 then f(1) is equal to

oM f ) =, A F(L) BT 2

(a) 2 (b) 1 (c)0 (d) none of these(3TH & ®Ig =)
If sin~1x = y, then
afg sin~lx =y, @

@0<y<m b)0<y<m ()-s<ys<> (d-7<y<Z

The principal value of tan™1(—1) is
tan~!(—1) & = A ©

o

(a) w/4 (b) —m/4 (c)3m/4  (d) none of these(STH & ®Ig &)

_ 137\ .
The value of cos™1 (cos Tn) is
_ 13
cos™1 (COSTE) HT I ©

(a)13m/6 (b) /6 (c) 7m/6 (d) —m/6

10. sin(tan™x),|x| < 1is equal to

sin(tan™'x), [x| < 1 S_I&R B
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X 1 X

1
b) — d
(@) V1-x?2 ( )\/1—x2 (C)\/1+x2 ( )\/1+x2
11. IfA = [aij]mxn' then the transpose of A is

?ZIﬁ{A=[aU] n,FﬁAEb—Ftlﬁaﬁ%\’

mxX

(a) [aif]mxn (b) [a]-i]mxn (c) [aﬁ]nxm (d) none of these(3TH & ®Ig =)
2x +y 4x7 _ [ 7 7y—3 .
12. |If [ Sy 7 4x] =1y x+6 , then the value of x, y are respectively
(a) 3,1 (b) 2,3 (c)2,4 (d) 3,3
2x+y 4x7_ [ 7 7y—3 ] _
aﬁ{[Sx—7 4x]_ y %46 , Al x,y BT A9 HAM: ©
(@)3,1 (b) 2,3 (c)2,4 (d) 3,3
_ [0 1 2.
13. IfA = [1 O]' then A is equal to
erq’A=[(1) é],?ﬁAZERTsN%\'
0 1 1 0 0 1 1 0
@1 o (b) [1 o] € 1 (d) [o 1

1 0 O
14. Thematrix |0 2 O0fisa
0 0 O
(a) Identity matrix
(c) Skew-symmetric matrix

1 0 O
sﬂfag[o 2 0]@7
0O 0 O
(a) TS TIE &
(c) fawq Ffaa g B

1

15. IfA =

3

—1 4 -3
(@) 2 -8 6
L 1 —4 3

1 4 -3
(c)]2 -8 6‘
1

1
—4
3

afe A =

(b) Symmetric matrix
(d) None of these

(b) AT MR ©
(d) 379 & BIS T

—4] andB=[-1 2 1] then (AB)'isequalto

—1 2 1
(b)| 4 -8 —4]
|—3 6 3
-1 4 =3
(d)| 2 8 6]
L1 —4 3

A B=[-1 2 1] @ (AB) R 7
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—1 4 -3 -1 2 1
(@)l 2 -8 6] (b)] 4 -8 -4
| 1 —4 3 | —3 6 3
1 4 -3 —1 4 -3
(c)|2 -8 6] (d)| 2 8 6]
11 4 3 L 1 —4 3
cosf@ —sinf]| .
16. Value of |sin9 cosO |
(@) o (b) -1 ()1 (d) none of these
cosf@ —sinf
|sin9 cost9| A &
(a)0 (b) -1 (c)1 (d) 398 & ®Ig T8l
2 3 x 3 .
17. |If |4 c = |2x 5| then x is
(@) 2 (b) -2 (c)0 (d) none of these
2 3] _|x 3
ﬁ|4 5 _|2x 5|Eﬁxg
(a) 2 (b) -2 (c)0 (d) 398 & ®Ig T8l

18. Which of the following is correct

(a) Determinant is a square matrix

(b) Determinant is a number associated to a matrix

(c) Determinant is a number associated to a square matrix
(d) None of these

fereforRaa & 9 &9 a1 B 98 2
(a) ORMFIG UH o AR B

(b) ARMG UHh AE H Hdg (D AT o
(c) ARMI® Teh a7 Mg A Wdg UH W& &

(d) 579 9 BIg &l
1 sinf 1
19. IfA = |—sinf 1 sinel, where 0 < 6 < 2m then
-1 —sind 1
1 sinf 1
afe A = |—sing 1 sinelaﬁoseszngﬁeﬁ
-1 —sind 1

(a)det(4) =0
(c)det (A) € (2,4)

(b) det(4) € (2, )
(d) det(A) € [2,4]
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20.

21.

22.

23.

24.

25.

Let A be a non-singular square matrix of order 3 X 3, then |adjA| is equal to
afd A, 3 x 3®IfC T I Mg © Al |adjA| &1 919 &
(a) |4 (b) |A]? (c) |AJ? (d) 34|

If f(x) = xzsin%, where x # 0, then the value of the function f at x = 0, so that
the function is continuous at x = 0O is

(a) o (b) -1 (c)1 (d) none of these

afe f(x) =xzsin%, el x # 0, ®ar [ BT A x = 0 W 89, IS Hed x = 0 W
Had &

(a)0 (b) -1 (c)1 (d) 3777 & BIg el

The function f(x) = |x — 1], x ER
(a) continuous atx =1 (b) continuous everywhere
(c) not differentiableat x = 1 (d) all of these
BAd f(x) =|x—1|, x €ER
(a)x =1 TR Fdd = (b) Th Had Beld B
(c) x = 1 W Jdh-IT 7Bl B (d) SURIad T
Derivative of cosvx is (cosvx @1 3[ddmelal )
1 —sinVx sinvx sinvVx
(a) (b) (c) (d)
2cosvx 2vx Vx 2Vx
R l—xz) dy
If y = sin <—1+x2 , 0 <x < 1then xS
T 1—x2> dy
afg y = sin (1+x2 ,0<x<1dr dx g
-2 b 2 1 d -1
(@) 1+x2 ( )1+x2 (©) 1+x2 ( )1+x2
d
If y =log(logx),x > 1 then d_ic/ is

d
afe y = log(logx),x > 1 ar d_ic, g

1 x 1 -1
(b) (c)

logx logx xlogx xlogx

(a)
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26.

27.

28.

29.

30.

31.

32.

33.

If (If€) x = acosh, y = bcosh, then (TT) % is ()

a b b
@ - (b) 7 () — (d)—~
Ify =1 > 0th @ [
y =logx,x en Ix2 is
d?y
I y =logx,x >0 Fﬁw%

1 oL 1 2
(a)x ( )xz (C)_x_z ( )xz
Derivative of sinx with respect to cosx is
sinx @7 MadHelol cosx & AU
(a) tanx (b) cotx (c) —tanx (d) —cotx

d
If (Tf3) y = x*, then (A1) s (B)
dx
(@) x*(1 — logx) (b) x*(1 + logx) (c) 1 —logx (d) 1 + logx
d
If (afe) x —y = @, then (q1) s (B)
dx
(a) x (b) O (c)1 (d)—1
Maximum value of the function f(x) = 3x?> + 6x + 8,x ER is
(@) 2 (b) 5 (c)-8 (d) does not exist

%ad f(x) = 3x% + 6x + 8,x € Ris & #&dH A ©
(a) 2 (b) 5 (c) -8 CERSERRE

The function f(x) = x? — 2x is decreasing in the interval

(@) (—o0, 1] (b) [1,0) (c)R (d) none of these
BT f(x) = x? — 2x, IARTA H FHAN B

(a) (=00,1] (b) [1, 00) (O)R (d) T R B T
Slope of the tangent to the curve y = x3 + 3x atx = —1

x=—1WR dPH y = x3 + 3x DT T @ P FG0Tal
(a) -6 (b) -5 (c)6 (d)o
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34.

35.

36.

37.

38.

39.

40.

The interval in which y = x2e ™% is increasing is

frafaRad & & fra iR § y = x%2e ¥ =f\E B

(a) (~0,00)  (b) (~2,0) (c) (2, ) (d) (0,2)
The line y = x + 1 is a tangent to the curve y? = 4x at the point

Pl g Wy =x+1 9% y? = 4x & WA AT &

(a) (1,2) (b) (2, 1) (c) (1,-2) (d) (-1,2)

The radius of a circle is increasing at the rate of 0.7 cm/s. What is the rate of
increase of its circumference?

(@))1l4mcm/s (b))1l.6mcm/s (c)2.1mcm/s (d) none of these

el a0 A o F 0.7 cm/s B OX @ 9 B W& ¥ TP IRE F IR A
W

(@Q))1l4mcm/s (b)) 1l.6mcm/s (c)2.1mcm/s (d) 79 & I 8!
Maximum value of sinx + cosx is

sinx + cosx &1 I=qqq A T

(a) =2 (b) V2 (c) —1 (d) 1

The point on the curve x? = 2y which is nearest to the point (0, 5) is

IH x%2 = 2y W (0,5) W FATH W W Rerd fag 2

@@V29  (O)@V20 (0 (0,0 (d) (2,2)

The normal at the point (1, 1) on the curve 2y + x? = 3 is

B 2y +x%2 =3 & A5 (1, 1) R e BT FHHT 2

@Qx+y=0 (b)x—y=0 ()x+y+1=0 dx—-—y=1
Minimum value of the function f(x) = |x + 2| — 1 s

®el f(x) = |x + 2| — 1 &1 YAqH A9 B

(@)o (b) 1 (c) -1 (d) 2
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